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QUESTION 1

You wish to allow a message selector to be changed at runtime. Which JMS activity should you use?
A. Get JMS Queue Message

B. JMS Topic Publisher

C. JMS Queue Sender

D. Reply To JMS Message

Correct Answer: A

QUESTION 2

What is the best way to implement a business process receiving input from a JMS queue if the process requires
sequential processing?

A. use the Sequencing Key field for a JIMS Queue Receiver activity

B. use the Sequencing Key field for a Wait for IMS Queue Message activity
C. use the Sequencing Key field for an HTTP Receiver activity

D. use the Sequencing Key field for a JMS Topic Subscriber activity

Correct Answer: A

QUESTION 3

Which two statements are true about recoverable process instances? (Choose two.)
A. Manual engine recovery can only be done using TIBCO Administrator.

B. Manual engine recovery can be done using TIBCO Hawk.

C. Process instances that use sequencing cannot be recovered.

D. Process instances with checkpoints can be recovered by the engine.

Correct Answer: BD

QUESTION 4

When using Java Event Source, which method is called by the process engine to activate the process starter?

Latest TB0-123 Dumps | TB0-123 PDF Dumps | TB0-123 VCE Dumps 2/3


https://www.geekcert.com/tb0-123.html
https://www.geekcert.com/tb0-123.html
https://www.geekcert.com/tb0-123.html

' VCE & PDF
: GeekCert.com

A. init()

B. onStart()
C. onEvent()
D. listen()

Correct Answer: B

QUESTION 5
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Which Global Variable option should you check to make the Global Variable visible and configurable in TIBCO

Administrator?
A. Type

B. Service

C. Deployment
D. Constraint

Correct Answer: C
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